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woA (1) T F M & (M) HEBMESE (M)

LRI 60,917,400 56,405,000 (A) 4,512,400
PAL i e ot 62,509,320 57,879,000 (B) 4,630,320
YA SR 54,831,600 50,770,000 (C) 4,061,600
LHEFASH 56,263,680 (F) 52,096,000 (D) 4,167,680 (E)
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SRETEEHI REtEHEE
34 L Y P i%;-
& H = g i B s g B B e | ZOERE WE
(RN
1| #BETHE = 33,104,458 = 34,312,299 1,207,841 4%
| w5 LHE = 6,825,671 Y 6,825,671 0
I HMER (R T3 = 3,682,425 = 3,682,425 0
EiETEE 43,612,554 44,820,395 1,207,841 34%H
/\J\é%
1] Gk = 1,719,599 = 1,754,962 35,363 %A
IO BUGEEE = 5,824,411 X 5,923,703 99,292 HE%H
| —EEE =X 5,248,662 = 5,380,616 131,954 ¥4%A
HEEE 12,792,672 13,059,281 266,609 H4%E
&&t 56,405,226 57,879,676 1,474,450 H4%&
ET A (T EmHS) TH AT 56,405,000 57,879,000 1,474,000 H9%A
THE RIS %8 4,512,400 4,630,320 117,920 H4%H
WERH(IEE) 60,917,400 62,509,320 1,591,920 H4%AE
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RETZEEAT RETEE® -
& H I Y AT 28 | mBE  HE HE o | =OVERE W
I |BETSE
Al [ShEESE T 2V 11,915,079 = 13,122,920 1,207,841 H4%E
A2 (BRI - B NELE T F =Y 9,830,847 = 9,830,847 0
A3 |FER=ENERETSH = 11,358,532 = 11,358,532 0
&5t 33,104,458 34,312,299 1,207,841 H4%E
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8 H wo = g B S g HE B o | =OVERE W
A1l (S EERET S
1 |ERE G LE 1 KX 2,798,270 1 &K 2,798,270 0
2 |ShBEE TE 1 = 4,003,369 1 =& 5,211,210 1,207,841 H4%H
3 |BETEH 1 = 2,658,581 1 = 2,658,581 0
4 |BEXETHE 1 = 622,310 1 = 622,310 0
5 |FofTH 1 = 1,183,010 1 = 1,183,010 0
6 |-yt 1 = 649,539 1 =& 649,539 0
& 11,915,079 13,122,920 1,207,841 H4%E
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B H BB | ue wp o mm sw | me wm ap | em | TOEAE W3
A2|BEHE- - EFENEIEIS
1 |EHERGR T 1 K 482,989 1 K 482,989 0
2 |EETEH 1 K 2,248,300 1 K 2,248,300 0
3 [NERETE 1 K 614,735 1 K 614,735 0
4 |(BELELE 1 K 693,389 1 KX 693,389 0
5 |Fofh I 1 K 5,166,700 1 =K 5,166,700 0
6 |HE-nsytE 1 K 624,734 1 K 624,734 0

Gt 9,830,847 9,830,847 0
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RETEEHI REtEHEE N
# H wo = g B B S g HE B o | =OVERE WE
A3 |RERENESEIS
1 |ERE G LE 1 KX 353,940 1 &K 353,940 0
2 |EETEH 1 = 1,387,700 1 =& 1,387,700 0
3 |NELETE 1 KX 514,131 1 &K 514,131 0
4 |BEXETHE 1 = 367,407 1 = 367,407 0
5 |FofTHE 1 = 7,880,808 1 = 7,880,808 0
6 |E-0nE 1 = 854,546 1 = 854,546 0
Gt 11,358,532 11,358,532 0




